-
SHS

g oLO A o] SHE 207
e AHA gF2 Hie HH AZ S g2

2 PART STAINLESS WATERPROOF THIN FLAT SWING HANDLES
SAB-401~403(sus)

OPATPEND. (Y2 - &= - Cigt - 52)

S @ eidlfAxFoR LAYl HojLIC, AB-2401-1-SAB-401-1 (214/912) with Key
Feature @S HO|A THIIX|Q| QHE R|=7t 13,591 ZREIHERY AB-2401-2 (@012 Wi
0 =4 HHQ| 2B Y Aoz /0] JAFLCH - =4 (Z4Igi8) Without Key
O ABMA(ZIR P2 nHIN AYFTLE FECH HUOY 85 135 27 72 BFEEX S
O =X E0| MBAX|(DHINE LIAIS| ZERIUXIZE 2faH, 3 B2 T2 1.0 ‘7» : 0] Dimension of mounting hole
LIASYYRINE RS HERILICH \;M)m‘ M6 X 12 | 2-@4.2
i 5 =
Q;Adctht tr:e stainless, have very strong corrosion-resis- o /'W 7( gg\jliolali;% feﬁtral
ant performance 0 ; a
@ Ultra-thin structure, the distance between the installa- ] y N °.2$ \ 3 h position of handle
tion surface and the stopper plate is only 13.5mm. i / A I @ o
@ Adopt waterproof structure sheet packing and reverse b // k D - igg
side of handle. 3™ 2= 90° 2 Ea
@ The special design of two-way (left and right) to ro- Turn 90° /// / ‘ Q
tate concurrently (according to the direction change, R s I © <
stopper plate and adjusting washer can be turned). // © i -

@ Mounting screw for stopper plate of this product are

recommended that are coated with "anti-loosening

to prevent loosening! 18

A
NN
17

) g I~ z
M ¥ @AHRA(SUS304) N, . [
SAB-402-1 EE A2 eslofalel oot Q H 7 = g
g £ euiXtE 2Xt Hlojgt 12| 21E BOX 7 ‘\?/7
SAB-401-1 L T @Key No / H200 L - Key no/H200
Material @Cast Stainless steel(SUS304) (84) ngH 26 2z
Finish eHairline finish : SUS(t3.0) 2-M4X8
Specific Use @ voltage transformer, switch box, section board, control SS(t3.2)
cabinet, and other various kinds of control cabinets Stopper plate - &8 25 t 1.2~2.3m

Panel thickness applicable to install

Remarks @Key No /H200

’/ - - " : AB-2402-1-SAB-402-1 (z4212) with Key
! sd = S U o
/ ‘ Remarks Weight Lot AB-2402-2 (g41213) without Key
4 SAB-401-1 HAUS 401 10
7|14 SAB-402-1 AUAS 298 10 BFEEX|S
lDKH-i / H0200 = - N 85 135 2 65 Dimens?c;n of mounting hole
ey N SAB-402-2 SR 296 10 30 g4 T2 1.0 MEX 10 401 o giar
SAB-403-1 g4US 226 10 Waterproof packing‘ ‘ 2{ i Bl BF A
Revolvling central
E ~ | g position of handle
M2 L V& g )
HIA 1™ ALl sH= ‘ot B - ‘. i 0 N\ ON ) o
oT OE — O |_HE Q g)s e % S A - T
WATERPROOF THIN FLAT SWING HANDLES e NP
Turn 90 9 <>cb
AB-2401~2403 il 8
st 18
ar i 2T 7
E I e=Zx HHO| 2E AT YU AL0| =0 UFLICH *{2{9} T [
Feature O Z2d7(Zle HA2 n¥My 2¥FTE FTSH ) H = <Q
O ZXE| HZA(DHEE LiAte] ERIUXIE 25, p
LIAZEEXINE =g EEsicH Ll =
3

Key no/H200 24
@ Waterproof. (using O-ring and sheet packing) bty 5
@ For both left-hand and right-hand use.(the left-hand SUS(t2.5) 2-M4 X8 L X2 27t 1.2~2.3m

or right-hand use can be changed by reversing the SS(t2.3) Panel thickness applicable to install
cam and stopper plate) Stopper plate

@ Mounting screw for stopper plate of this product are
recommended that are coated with "anti-loosening"

to prevent loosening! AB-2403-1-SAB-403-1 (ZAIUB) With Key

M F e0feiEa(ZDC) AB-2403-2 (z41gt2) without Key
BEHH2 0RFI=ED / BEUEY

g £ eujEu S Kol 19| 25 BOX

H| 1 @Key No. / H200

; - 85 3. 27 65 BFEEX|S
Material @Zinc alloy(ZDC) 285 A T2 1.0 ol Dimensi—gn of mounting hole
AB-2403-1 Finish @Satelite chrome plating / B:Baked finish : m M5 X 10 2-g4.2
Specific Use @ Electric distribution and control panels,etc P P 9 ‘ ‘ 7{ M 3™ =4
Remarks @Key No/H200 o . f Revolvling central
! = ﬁ N = position of handle
AB-2402-1 s N T Ry 3 A ey —= 9
Product No. Remarks Weight Lot : //f'// N = /)
AB-2401-1 e 367 40 S 2z o0 Y% I © Jisay 18 o
e ° 7/
AB-2401-2 Fsgle 345 40 Gu T 90 //f\(% | E ® @
AB-2402-1 AU 266 56 N <0 | <2
AB-2402-2 dalgis 266 56 ] ] | \\?/
AB-2403-1 HAUS 199 80 \ . Key no/H200 24
ks
G202 24US 202 80 SUS(t2.5) 2 M4X8 58 2 1 12~2.3m
AB-2401-1B |SH=T/FAUS 367 40 SS(t2.3) Panel thickness applicable to install
. - HaiC kA0l Stopper plate
7|t / H200 AB-2402-1B |2 =Z/HAQUS 266 56 pper p
Key NO AB-2403-1B |E2=Zl/IAQUS 199 80

35 36



